O 4= ==
SHAEE 128 TEFER

_ E S

L= 1 iE 52 | 8 &
& FEFE MR TEom 3% 4 [5E [6R | O

AR
1 A At IS5 EEE A > > © ° ° ©
2 & |O2O8U REES (4-6%F) A 5 5 6 5 5 5 O
3 T A ANEXYT—SREASE
4 B |[#E

FHZKECTZTOZ T ~13:20~ A
> F Ve hernaEne A Ei= |5 > > 6 6 © O
6 N |REES(1-36F)SC A 5 5 5 | 6 | 6 | 6 O
7 Kk |BES REREHS, 66) A s | s | s |6 | 6 |6 ®
8 A |[BEIE IHE (546) A s | 5 | 6 | 6| 6 | 6 O
9 @ A s | 5 | 6 | 6 | 6 | 6 O
10 * |8
11 8 |#e
12 A |[Es8s Al#mal s | 5 | 5 | 6 | 6 | 6 O
13 & |SC A s |6 | 6 | 6 | 6 | 6 ®
14 Kk [557 A s | s |5 | 6 | 6 | 6 O
15 K |RiEEs Algal s | 5 | 6 | 6 | 6 | 6 ®
16 @ |O>O80 HENB%(SE) BADHE | A s | s | 6 | 6 | 6 | 6 ®
17 £ (%8
18 H B
19 A |8t AlBa|l 5 | 5 | 5 | 6 | 6 | 6 ®
20 % |sC A s | 6 | 6 | 6 | 6 | 6 O
21 K 557 A s | s | 5| 6|6 | 6 O
22 K |emie 4mmREE A 4 | 4| a | a | a] a O
23 & |mER —HTR 2eES C 4 | 4 | a4 | a | a | a4 X
24 T
25 B
26 A |[®=tkxAm
27 X
28 . XK
29 &
B
31 &
1 B |=8
2 H
3 K
4 K
5 K
6 = |KEHAEAR
7 %
8 H
9 A |mADH
10 N |t —HTR ZeEs Kz 4 | 4 | 4 | 4| 4| a4 O

FHmERX 1A108 (k) KERFE 4BREIRE KEHY

Y
(€))

SC:RI—ILHh2 15—




